Oaumnuana «JlomoHocoB» mo mHpOpMaTUKE
2024-2025 y4ebublii 10o/]. 3aKJIIOYUTEJIbHBINA 3Tamn
Pabora ygacTnuka c id 3assku 1386438, norunom inf25f 364

CBOILHbIﬁ NTOTr 110 BCEM 3aJavYaM B HpOBepﬂmmeﬁ cucremMe

RunID Time Username Prob Lang Result Tests Score
197 2:57:37 inf25f_364 3 g++ Partial solution 21 90
160 2:23:14 inf25f_ 364 5 g++ Partial solution 1 0O
91 1:22:45 inf25f_364 2 g++ Partial solution 19 64
49 0:54:56 inf25f_ 364 1 g++ Partial solution 12 32
N/A N/A inf25f_364 4 N/A N/A 0 O
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[71]
[72]
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[74]

#include <iostream>
#include "set
#include "map"
#include "vector"
#include "cstdint"
#include "algorithm"
#include "deque”
using namespace std;

" "

void solve();

int main() {
ios_base::sync_with_stdio(false);
cin.tie(@);

int t = 1;

f/cin »> t;

while(t--) {
solve();

¥

return 8;

}

#define int int64_t
#define v vector

#define INF (int)(lel8 + 7)
#define MOD (int)(1eS + 7)

v<int> tr;
v<int> a;
v<int> d;
void build(int ver, int 1, int r) {
if (r -1 ==1) {
tr[ver] = a[l];
return;
¥
int mid = (1 + r) / 2;
build(ver * 2 + 1, 1, mid);
build(ver * 2 + 2, mid, r);
triver] = max(tr[ver * 2 + 1], tr[ver * 2 + 2]1);

I

void push(int ver) {
tr[ver] += d[ver];
dlver * 2 + 1] += d[ver];
d[lver * 2 + 2] += d[ver];
d[ver] = 8;

int get(int ver, int 1, int r, int gl, int gr) {
if (gl »>=r || gr <= 1) {

return 8;

push(ver);
if (gl <= 1 && gr >=r) {
return trlver];
¥
int mid = (1 + r) / 2;
return max(get(ver * 2 + 1, 1, mid, ql, gr), get{ver * 2 + 2, mid, r, gl, gr));
¥
void upd(int ver, int 1, int r, int gql, int gr, int x) {
if (gl »>=r || gr <= 1) {
return;

push(ver);

if (gl <= 1 &% gr »>=r) {
dlver] += x;
return;



[75] int mid = (1 + r) / 2;

[76] upd{ver * 2 + 1, 1, mid, gl, gr, x);
[77] upd{ver * 2 + 2, mid, r, gl, gr, x);
[78] trlver] = max(tr[ver * 2 + 1], tr[ver * 2 + 2]);
(791 %

[8e]

[81]

[82] void solve() {

[83] int a, b;

[84] cin »> a »> b;

[85] v<int> d{1le6, INF);

[86] dla] = e;

[87] deque<int> c;

[88] v<int> p(1le6);

[89] c.push_back(a);

[ee] v<bool> used(le6);

[91] used[a] = true;

[92] while (lc.empty()) {

[93] int ver = c[@];

[94] if (c[@] == b) break;

[95] c.pop_front();

[96] if (ver % 2) {

[97] if (ver * 3 + 1 »>= 1e6) continue;
[98] if (lused[ver * 3 + 1]) {

[99] c.push_back(ver * 3 + 1);
[188] used[ver * 3 + 1] = true;
[181] plver * 3 + 1] = ver;
[182] dlver ®* 3 + 1] = d[ver] + 1;
[1e3] }

[184] T else if (lused[ver [/ 2]) {

[185] used[ver / 2] = true;

[1e6] c.push_back(ver / 2);

[187] plver / 2] = ver;

[188] dlver / 2] = d[ver] + 1;

[1e9] b

[11@] if (lused[ver * 2]) {

[111] if (ver * 2 >= 1e6) continue;
[112] c.push_back(ver * 2);

[113] plver ®* 2] = ver;

[114] used[ver * 2] = 1;

[115] dlver * 2] = d[ver] + 1;

[116] by

[117] if (ver % 3 == 1 &R lused[(ver - 1) / 3]) {
[118] c.push_back((ver - 1) / 3);
[119] p[(ver - 1) / 3] = ver;

[12@] used[(ver - 1) / 3] = true;
[121] d[(ver - 1) / 3] = d[ver] + 1;
[122] }

[123]1 3

[124] if (d[b] == INF) cout << -1;

[125] else {

[126] cout << d[b] << "\n';

[127] if (d[b] < 2)

[128] return;

[129] v<int> ans(1l, p[bl);

[13@] while (ans.back() != a) {
[131] ans.push_back(p[ans.back()]);
[132] }

[133] ans.pop_back();

[134] reverse(ans.begin(), ans.end());
[135] for (auto& to : ans) {

[136] cout << to << " 7

[137] }

[138] }

[139] }
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[2]

[3]

[4]
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[25]
[26]
[27]
[28]
[29]
[3e]
[31]
[32]
[33]
[34]
[35]
[36]
[37]
[38]
[39]
[40]
[41]
[42]
[43]
[44]
[45]
[46]
[47]
[48]
[49]
[5e]
[51]
[52]
[53]
[54]
[55]
[56]
[57]
[58]
[59]
[60]
[61]
[62]
[63]
[64]
[65]
[66]
[67]
[68]
[69]
[70]
[71]
[72]
[73]
[74]

#include <iostream>
#include "set
#include "map"
#include "vector"
#include "cstdint"
#include "algorithm"
#include "deque”
using namespace std;

" "

void solve();

int main() {
ios_base::sync_with_stdio(false);
cin.tie(@);

int t = 1;

f/cin »> t;

while(t--) {
solve();

¥

return 8;

}

#define int int64_t
#define v vector

#define INF (int)(lel8 + 7)
#define MOD (int)(1eS + 7)

v<int> tr;
v<int> a;
v<int> d;
void build(int ver, int 1, int r) {
if (r -1 ==1) {
tr[ver] = a[l];
return;
¥
int mid = (1 + r) / 2;
build(ver * 2 + 1, 1, mid);
build(ver * 2 + 2, mid, r);
triver] = max(tr[ver * 2 + 1], tr[ver * 2 + 2]1);

I

void push(int ver) {
tr[ver] += d[ver];
dlver * 2 + 1] += d[ver];
d[lver * 2 + 2] += d[ver];
d[ver] = 8;

int get(int ver, int 1, int r, int gl, int gr) {
if (gl »>=r || gr <= 1) {

return 8;

push(ver);
if (gl <= 1 && gr >=r) {
return trlver];
¥
int mid = (1 + r) / 2;
return max(get(ver * 2 + 1, 1, mid, ql, gr), get{ver * 2 + 2, mid, r, gl, gr));
¥
void upd(int ver, int 1, int r, int gql, int gr, int x) {
if (gl »>=r || gr <= 1) {
return;

push(ver);

if (gl <= 1 &% gr »>=r) {
dlver] += x;
return;



[75]
[76]
[77]
[78]
(791 ¥
[8@]
[81]

int mid
upd(ver
upd(ver
trver]

(L+r)/ 2

2 +1, 1, mid, gl, gr, x);

2+ 2, mid, r, gl, qr, x);

= max(tr[ver * 2 + 1], tr[ver * 2 + 2]);

oo |

[82] wvoid solve() {

[83]
[84]
[85]
[86]
[87]
[88]
[89]
[se]
[91]
[92]
[93]
[94]
[95]
[96]
[97]
[98]
[99]
[100]
[101]
[102]
[103]
[104]
[165]
[106]
[107]
[108]
[109]
[110]
[111]
[112]
[113]
[114]
[115]
[116]
[117]
rM1811

int n;

cin »> n;

vev<int>> a(n);

for (autod to : a) {

string s;

cin »> s;

reverse(s.begin(), s.end());

int m = 1;

int sm = @;

to.push_back(®);

for (int 1 = ©; i < s.size(); ++1i) {

1
int
for

¥

¥

int g = 8;

if (s[i] = "*") {
g=1;
++1;

}
if (s[3] = '~") {

g=2;
++1;
1
if (s[i] == "_") {
g =3;
++1;
1

if (islower(s[i])) to.back() += s[i] - 'a' + 26;
else to.back() += (s[i] - 'A');
to.push_back(g);

reverse(to.begin(), to.end());

b=1,3=28;
(int i =8; 1 < n - 1; ++1) {
if (a[i] < a[1 +1]) cout << 1 + b << ' ", b +=1, j

if (b == 2) cout << j + b;

i;
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[1] #include "bitset"™

[2] #include <iostream>
[3] #include "set"

[4] #include "map"

[5] #include "vector™

[6] #include "cstdint”
[7] #include "algorithm"
[8] #include "deque”

[2] using namespace std;

[1e]

[11] wvoid solve();
[12]

[13] dint main() {
[14] ios_base::sync_with_stdio(false);
[15] cin.tie(@);
[16]

[17]

[18]

[19] int t = 1;
[28] [fcin »>» t;
[21] while(t--) {
[22] solve();
[23] L

[24]

[25] return 8;
[26] }

[27]

[28] #define int int64_t

[29] #define v vector

[30] #define INF (int)(1lel8 + 7)

[31] #define MOD (int)(1e% + 7)

[32]

[33] //w<int> tr;

[34]1 J/v<int> a;

[35] //v<dint> d;

[36] //veoid build(int ver, int 1, int r) {
[37]1 // if (r - 1==1) {

[38]1 J/ trlver] = a[l];
[39]1 // return;
[ae] // I

[41] //f int mid = (1 + r) / 2;

(421 //f build(ver * 2 + 1, 1, mid);

[431 //f build(ver * 2 + 2, mid, r);

[441 // trlver] = max(tr[ver * 2 + 1], trlver * 2 + 2]);
(451 //}

(461 //

[47] //void push(int ver) {

[asy // tr[ver] += d[ver];

[4s1 // d[ver * 2 + 1] += d[ver];

[se] // dlver ®* 2 + 2] += d[ver];

[511 // d[ver] = 8;

[521 //}

[531 //

(541 //

[55] //int get(int ver, int 1, int r, int ql, int gr) {
[561 //  if (ql >=r [| ar <= 1) {

[571 // return 8;

(58] // ¥

[59]1 // push{ver);

[60] // if (gl <=1 & qr >=r) {

[61] // return trlver];

[62] // ¥

[631 // int mid = (1 + r) / 2;

[64]1 // return max(get(ver * 2 + 1, 1, mid, gl, gr), get(ver * 2 + 2, mid, r, gl, qr));
[65] //}

[66] //void upd(int wver, int 1, int r, int gl, int gr, int x) {
(671 //  if (ql >=r [| qr <= 1) {

[681 // return;

(691 // ¥

[7e1 // push(ver);

(711 // if (ql <= 1 && qr >= r) {

[721 J/ dlver] += x;
[731 // return;
(741 // b



[751 // int mid = (1 + r) / 2;

[761 // upd(ver * 2 + 1, 1, mid, gl, gr, x);

[771 // upd(ver * 2 + 2, mid, r, gl, qr, x);

(78] // trlver] = max(tr[ver * 2 + 1], tr[ver * 2 + 2]);
(791 //%

[8e]

[81] int sum = -1, r = 8;

[82] w<int> ans;

[83] w<w<int>> gr;

[84] w<int> p;

[8s5]

[86] wvoid f(w<int>& a, set<int>& d) {

[87] int sm = @;

[88] int t = 8;

[89] for (int 1 = ©; 1 < (int)a.size() - 1; ++i) {
[ge] t += grlalill[a[i + 11T;

[91] sm += p[a[i]];

[92]

[93] if (t » r) return;

[94] t += gr[a.back()][®];

[95] PF(t<=r) {

[96] if (sum < sm) sum = sm, ans = a;
[97] ¥

[@8] for (int i = 1; 1 < 18; ++i) {
[99] if (d.find(i) != d.end()) {
[1e@] d.erase(i);

[1e1] a.push_back(i);

[1e2] fla, d);

[183] d.insert(i);

[184] a.pop_back();

[1e5] }

[106] }

[107]

[1e8] }

[109]

[118]

[111] void solwe() {

[112] int n, m;

[113] cin >> n >> r >> m;

[114] gr.resize(n, v<int>(n));

[115] p.resize(n);

[118] for (auto& to : p) {

[117] cin >> to;

[118] 3

[119] for (autol too : gr) {

[12@] for (autod to : too) {

[121] cin »> to;

[122] }

[123] ¥

[124] for (int 1 = 8; 1 < m; ++1) {
[125] int u ,ver, x;

[126] cin >> u >» ver »> x;

[127] --u, --ver;

[128] gru][ver] = min(gr[u][ver], x);
[129] grlver][u] = min(gr[ver][u], x);
[13e] 3

[131] for (int h = 8; h < n; ++h) {
[132] for (int 1 = @; 1 < n; ++1) {
[133] for (int § = @; j < n; ++3) {
[134] grlil[3] = min(gr[i1[j1, grlillh] + er[h1[3i1);
[135] b

[138] }

[137] ¥

[138] v<int> a(1);

[139] set<int> d;

[148] for (int i = 1; 1 < n; ++i) {
[141] d.insert(i);

[142] 3}

[143] f(a, d);

[144] sort(ans.begin(), ans.end());
[145] cout << ans.size() << '\n';

[146] for (autod to : ans) {

[147] cout << to + 1 << " '

[148] }

[1497 %
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ITocerika o 3aJade 5
[1] #include "bitset"™

[2] #include <iostream>
[3] #include "set"

[4] #include "map"

[5] #include "vector™

[6] #include "cstdint”
[7] #include "algorithm"
[8] #include "deque”

[2] using namespace std;

[1e]

[11] wvoid solve();
[12]

[13] dint main() {
[14] ios_base::sync_with_stdio(false);
[15] cin.tie(@);
[16]

[17]

[18]

[19] int t = 1;
[28] [fcin »>» t;
[21] while(t--) {
[22] solve();
[23] L

[24]

[25] return 8;
[26] }

[27]

[28] #define int int64_t

[29] #define v vector

[30] #define INF (int)(1lel8 + 7)

[31] #define MOD (int)(1e% + 7)

[32]

[33] //w<int> tr;

[34]1 J/v<int> a;

[35] //v<dint> d;

[36] //veoid build(int ver, int 1, int r) {
[37]1 // if (r - 1==1) {

[38]1 J/ trlver] = a[l];
[39]1 // return;
[ae] // I

[41] /7 int mid = (1 + r) / 2;

[42]1 // build(ver * 2 + 1, 1, mid);
[43] // build(ver * 2 + 2, mid, r);
[44] /7 tr[ver] = max(tr[ver * 2 + 1], trlver * 2 + 2]);
[45]1 //}

[46] J/

[47] //void push(int ver) {

[as] // tr[ver] += d[ver];

[49]1 // dlver * 2 + 1] += d[ver];
[5e]1 // dlver * 2 + 2] += d[ver];
[511 // dlver] = 8;

[52] //%}

[531 J/

[54]1 //

[55] //int get(int ver, int 1, int r, int gl, int gr) {
[56] // if (gl »=r || qr <= 1) {
[571 // return 8;

[58]1 J/ }

[59]1 // push(ver);

[e0] // if (gl <=1 && gr >= r) {
[61]1 // return tr[ver];

[62] J// }



[63] // dntmid = (1 +r) / 2;
[64] //  return max(get(ver * 2 + 1, 1, mid, gl, qr), get(ver * 2 + 2, mid, r, ql, qr));
(21 //%

[66] //void upd(int ver, int 1, int r, int gl, int gr, int x) {

[6?] I if (ql >=r || qr <= 1} {

(e8] // return;

(691 // }

[7e] // push(ver);

[71] //  if (ql <= 1 && gr >= r) {

(721 // dlver] += x;
[731 // return;
(741 // b

[751 // int mid
[761 // upd(ver
[771 // upd(ver
[781 // tr[ver]
[791 //%

[8e]

[81]1 //int sum = @, r = 8;
[82] //w<int> ans;

[83]1 //w<w<int>> gr;

[84] //w<int> p;

(1 +r) [/ 2;

2 +1, 1, mid, ql, gr, x);

2 + 2, mid, r, ql, gr, x);

max(tr[ver * 2 + 1], tr[ver ¥ 2 + 2]);

-

(851 //

[86] //void f(v<int>& a, set<int>& d) {
(871 // int sm = @;

(881 // int t = 6;

(891 // for (int i = @; i < (int)a.size() - 1; ++i) {
[gel] // t += grlali]][ali + 1]1;
(911 // sm += pla[i]];

(921 // ¥

(931 // t += gr[a.back(}1[8];

[24] //}

[95]

[9e]

[97] void solve() {

[98] v<bitset<800>> a(leb);

[99] int n, m, k;

[188] cin >> m >»> n »> k;

[101] for (int 1 = 1; 1 < n; ++1i) {
[182] int ¢, b, x;

[183] cin »» ¢ >» b »> x;

[184] --c, --b, x;

[1e5] a[b] = a[cl;

[106] albl[x] = i;

[1e7] }

[1e8] while (k--) {

[189] int b, c;

[118] cin >> b >>» c;

[111] --b, --c¢;

[112] int ans = 8;

[113] for (int 1 = ©; 1 < m; ++1i) {
[114] int sum = 8;

[115] while (i < m &% a[b][i] == a[c][i]) ++sum, ++i;
[116] ans = max{ans, sum);
[117] 3

[118] cout << ans << '\n';

[119] }

[12@1 %

10



